

Section 6.3

Antidifferentiation by Parts

Product Rule for Differentiation

$$\frac{d}{dx} (uv) = u \frac{dv}{dx} + v \frac{du}{dx}$$

Product Rule in Integral Form

$$\int \left(u \frac{dv}{dx} \right) dx = \int \left(\frac{d}{dx} uv \right) dx - \int \left(v \frac{du}{dx} \right) dx$$

Integration by Parts Formula

$$\int u \, dv = uv - \int v \, du$$

Example

Evaluate

$$\int \mathbf{x \cos x \, dx =}$$

$$\int \mathbf{x} \, \mathbf{e}^{\mathbf{x}} \, \mathbf{d}\mathbf{x} =$$

$$\int \mathbf{x^2 \ln x \, dx =}$$

$$\int \ln x \, dx =$$

$$\int \mathbf{x}^2 \mathbf{e}^{\mathbf{x}} \, \mathbf{d}\mathbf{x} =$$

The Order

L **I** **P** **E** **T**
LOG INV POLY EXP TRIG
TRIG

Evaluate

$$\int e^x \cos x \, dx$$

$$\int 2x e^{3x} dx$$

$$\int \mathbf{x^2 \cos 3x \, dx}$$

$$\int \mathbf{e^{2x} \sin x \, dx =}$$

$$\int x \csc^2 x \, dx$$

$$u = x$$

$$du = dx$$

$$dv = \csc^2 x \, dx$$

$$v = -\cot x$$

$$= -x \cot x - \int -\cot x \, dx$$

$$= -x \cot x + \int \cot x \, dx$$

$$= -x \cot x + \int \frac{\cos x}{\sin x} \, dx$$

$$u = \sin x$$

$$\frac{du}{dx} = \cos x$$

$$du = \cos x \, dx$$

$$\int e^{3x} \cos x \, dx =$$

$$\int \mathbf{e^x \cos 2x \, dx =}$$

Tabular Integration

- Shortcut for Integration by Parts

Only if u is a polynomial

Evaluate $\int x^2 e^x dx$

With $f(x) = x^2$ and $g(x) = e^x$, we list:

$f(x)$ and its derivatives		$g(x)$ and its integrals
x^2	(+)	e^x
$2x$	(-)	e^x
2	(+)	e^x
0		e^x

$$\int \mathbf{x^4 e^{3x} \, dx =}$$

$$\int x^4 e^{(1/2)x} dx$$

x^4	+	$e^{\frac{1}{2}x}$
$4x^3$	-	$2e^{\frac{1}{2}x}$
$12x^2$	+	$4e^{\frac{1}{2}x}$
$24x$	-	$8e^{\frac{1}{2}x}$
24	+	$16e^{\frac{1}{2}x}$
0		$32e^{\frac{1}{2}x}$

$$\int \mathbf{x^3 \sin x \, dx}$$

$$\int_0^2 (x^2 - 5x) e^x dx =$$

$$\begin{array}{rcl} x^2 - 5x & + & e^x \\ 2x - 5 & - & e^x \\ 2 & + & e^x \\ 0 & & e^x \end{array}$$

$$e^x(x^2 - 5x) - e^x(2x - 5) + e^x(2) \Big|_0^2$$

$$\int \frac{x^2 - 9}{x} dx$$

$$\int \frac{x}{x^2 - 9} dx$$

Find

$$\int \sin^{-1} x \, dx =$$

$$u = \sin^{-1} x$$

$$dv = dx$$

$$du = \frac{1}{\sqrt{1-x^2}} dx$$

$$v = x$$

$$= x \sin^{-1} x - \int \frac{x}{\sqrt{1-x^2}} dx$$

$$u = 1 - x^2$$

$$\frac{du}{dx} = -2x$$

$$\frac{du}{-2} = x dx$$

$$du = -2x dx$$